76,

18.

.

(o) Fmnd &l velnes of 8 berween 0° and 3807 sartisfying
6cos’ + sinf=4.
(b} Find all valnes of x between 0° and 180° safisfying

tan 3y =—1-54

{a) TFind all valves of 8 between 0° and 360° satisfying
Scos’@+2=3 sin’0—- 2 cosd.,
(b) Emd afl values of x between 0° and 180° satisfying

sin (2r+ 12°) =—-0-53.

a} Find all values of 6 in the range 0° € 8 < 360° satisfying
=) - =

3—T7cos8=6sin%g,

(b} Fimd all values of xin the rangs 0° < x € 180° satisfying

Jdan(2x +43° = 0-7.
(cj Findall values of 8in the range 0° < 8 €< 360° safisfymg

Adtan Geasf+1=0.

{a) Find all values of @in the range 0° < 6 < 360° satisfying
12cos*0—5sin 8= 10.
(6) Find alf values of x in the range 0° €< £ < ZSO."" satisfying
| tm2Zr=— 1-6.
(¢} Find all values o7 ¢ in the mnge ¢° < ¢ < I80° satisfymg

tan @ +2sing=0.

. {a) Find all values of & between 0° and 360° satisfying

Tsin’g + 1= 3008 §—sin 4.
(b} Find ail values of x between (° and 180° satis ing

cos(2x + 25°%) = 0-454.
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